Jindal Vidya Mandir, JSW HillSide Township

Jindal Vidya { Mandir

Periodic Test-1 (2024-25)

Class: VII SETA Max. Marks: 40

Subject: English Duration: 1:30 min.

General Instructions:
1. This question paper has 8 questions and 4 pages.

2. Answer all the questions.
3. Mention the correct Sl. No. of the questions.
4. Write neatly and legibly in the answer sheet.
Section- A (10 marks)
READING
Read the given passages carefully.

Passage

Indira Priyadarshini Gandhi was born on 19 November 1917. She was one of the leading
women figures of the Indian National Congress party. In 1966, she became the prime
minister of our country, India. She is renowned as the first woman ever to accomplish this

goal to date.

Her father, Jawaharlal Nehru, was also India’s first prime minister. Indira Gandhi served her
role as the prime minister of our nation between 1966 and 1977 and continued her second
tenure between 1980-84. She was assassinated in Oct ’84 but is still renowned as the second

longest-serving PM of India.

Between 1975-1977, Indira Gandhi declared an emergency citing separatist tendencies in
the country after the creation of Bangladesh and India’s victory during the independence
movement and East Pakistan’s War of Independence. During the emergency, she advocated
censorship of the press and suspension of the civil liberties of the country’s people. She was
re-elected in 1980 and ordered Operation Blue Star in the Golden Temple. This military
action instigated an attack by her guards against her, and she died.

I. On the basis of your understanding of the passage fill in the blanks. (5M)

1. Indira Gandhi was the daughter of . (1)

2. Indira Gandhi was the first woman of India. (1)
3. The role of Indira Gandhi is renowned as (1)

4. Why was Indira Gandhi Assassinated? (2)
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Read the poem given below and answer the questions that follow:

Fame is a food that dead men eat,
| have no stomach for such meat.
In little light and narrow room,
They eat in the silent tomb.

With no kind voice of comrade near
To bid the feaster be of cheer.

But friendship is a noble thing,

Of friendship it is good to sing.
For truly when a man shall end,
He lives in memory of his friend,
Who doth his better part recall,
And of his fault make funeral

Il. Read the given options and on the basis of your understanding of poem write the
correct answer. (5X1M=5M)

1.By the expression ‘Fame is a food that dead men eat’ we mean
(a) fame is enjoyed only after death
(b) fame is enjoyed during life-time
(c) fame is something like a food
(d) fame dies with one’s death.
2. Friendship is a noble thing because
(a) a man cannot live without friends
(b) real friends are very helpful
(c) a man always remembers the good qualities of his friend after his death
(d) it enhances dignity of mankind.
3. Friendship is better than fame because in friendship
(a) when a man dies he lives in the memory of his friend
(b) a man always regards his friend
(c) enmity never comes
(d) a man is always happy in the company of his friend.
4.1n the last line of the above poem the poet wants to convey that
(a) one should believe in friendship
(b) the faults of a man are highlighted by his friend after his death
(c) the faults of a man are forgotten by his friend after his death
(d) one should not run after fame and friendship.

5. The word recall means
(a) forget (b) come close (c) help (d) remember.
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Section- B (10 marks)
WRITING

ll. You are Prabhu /Prema living at Bengaluru. Write a letter to the Editor of a national
daily and highlight the problem of frequent traffic jams in your city. (5 marks)

IV. You are Siddhu /Sitara living at Noida, Delhi. Write a letter to your cousin, Kunal who is
fond of reading good books, inviting him to visit the Book Fair which is going to be held in
your city in December. You are living at H-15, Ballabh Colony, New Delhi. (5 marks)

OR

Write a letter to your friend for inviting him on the marriage ceremony of your elder

brother.
Section- C (10 Marks)
GRAMMAR
V. Rewrite the given sentences by using possessive form of nouns. (5X1M=5M)

a) This is story of Nelson Mandela.

b) Could you guide me to the house of Mr Nathan?
c) She is the mother of Gauri.

d) The horns of the deer are called antlers.

e) Let me see the results of this year

VI. Pick out and write the verbs and direct objects from the given sentences. (5X1M=5M)

a) Raghav and Shireen have bought a new house.

b) Zara baked chocolate chip cookies for her classmates.
c) The chief guest announced a holiday.

d) She visits the senior centre once a week.

e) The soldier carried the injured man to the nearest hospital.
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Section- D (10 Marks)
LITERATURE

VII. Read the extracts given below and answer the questions that follow.
(4m)

He sat up straight

to eat a nut.

He liked to tease and play,
And if we ran around his tree,
He went the other way.

a) Who is he in the above lines? (1)
b) Name the poem and the poet of the above lines. (2)

c) Write the past tense of eat and present tense of sat. (1)

VIIl. Answer the following questions. Any three in 40 or 50 words. (3X2M=6M)

a) Who was the bearded man and why did he ask for the king’s forgiveness?
b) How did the king and the hermit help the wounded man?

c) Why was the king advised to go to the magicians?
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/‘> Jindal Vidya Mandir, JSW Hill Side Township

- ol Periodic Test-1 2024-25
"z SET-A
Class: VIl/ -‘Max Marks:40
Sub: Mathematics Duration: 1Hr.30min.

General Instructions:

e This question paper consists of 3 pages VI main questions.

e |t contains 29 questions.

e |t consists of two sections A and B. Section A is objective type and section B is

subjective type.
e All questions are compulsory.

SECTION A
I. Choose the correct option and complete the statements 1Mx5=5M

1. The product of (—=1) X (—=1) X (—=1) ..........10 times is
a)l b) -1 c)10 d)-10

2. The Number to be subtracted from —3 to get —9 is
a)6 b)12 c)-12 d) -6

3. The product of % x% is

a)l b)2 c)3 d)4
4. The side of a square is é cm. The perimeter of the square is cm.
1 ;! 1
a) g b) 1 C) E d) Z

5. The product of two integers is 12, if one integer is (—3) then the other one is

a)-4 b)-6 c)-3 d)4
Il. Fill in the blanks: 1Mx6= 6M

6. The Indus Valley Civilization began in 7000 BC and came to an end in 1900
B.C. The time duration taken is

7. The value of 12 =+ % is
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8.aXb=bXaiscalled property.

9. The productis (—1) X (=15) X 10is

10. The reciprocal of z is

11. The product of two negative integers is always

ll. State whether the following statements are True or False: 1Mx4=4M

12. Zero is the smallest integer. ( )

13. The reciprocal of a proper fraction is a proper fraction. ( )
14.(=5) X 0is (—=5). )

2
15.5 of 25is10. ( )

IV. Match the following 1Mx5=5M
Q.No. Column A Column B Column C
16 (=5)+ (—8) = (—8) + () | i) Inverse multiplication a). Closure under
property multiplication
17 3 x é i) (—360) b). (—5)
18 | 2.2 i) 2x2 o). 2
9 3 7 3
19 |12 x (—30) iv) Commutative d). g
property.
20 @@ v) % xz e). 1
Section B
V. Solve the following: - 2Mx4= 8M

21. Write a negative integer and a positive integer whose difference is —3.

22.Sushant reads-;- part of a book 1 hour. How much part of the book will he read in

'l
25 hours?
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23. Evaluate: (—=15) X 2 + 25 — (2).
24. Find the value of§ of a)46 b)18.

VI. Do as directed: - 3Mx4=12M.

25. A hiker starts her journey from a mountain base at an elevation of 150 meters
above sea level. She climbs to a peak that is 500 meters higher than the starting
point. After reaching the peak, she descends 650 meters to a valley. What is the
elevation of the valley?

26. Simplify: -a) [(—6) + 5] + [(—2) + 1)] b) (—12) x (—11) x (10).
27.Write three applications of integers in real life situations.

28.Evaluate: - 3% + 1% and name the fraction you got in the result.

Page3of 3






Jindal Vidya Mandir, JSW Hill Side Township
Periodic Test-1 2024-25

Jindal Vidya  Mandir

Class: VI Set-A Max Marks: 40
Sub: Science Duration: 1Hr.30min.

- General Instructions:

This question paper consists of 3 pages and total 26 questions.

It is divided into two sections A and B. Section A is Objective type questions Section B is
Subjective type of questions

All questions are compulsory.

Section-A
I. Fill in the blanks. [10 x 1 =10]

1.The food synthesized by plants is stored as

2.Amoeba digests its food in the

3.Temperature is measured in degree

4.Pitcher plant is an example of type of plant.

5.The largest gland in the human body is

6.No medium is required for transfer of heat by the process of

7.During photosynthesis the stomata helps in the exchange of

8.The stomach releases acid and digestive Juices which act on food.

9.The hotness of an object is determined by its

10.Rhizobium bacteria that live in roots of certain plants is to
Il. Choose the correct option for assertion and reason questions. [5 x 1 =5]

11. Assertion (A): Assertion: Ingestion of food is difficult without teeth.
Reason (R): Our teeth vary in appearance and perform different functions.
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(a) Both assertion (A) and reason (R) are true and (R) is correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true, but reason (R) is not the correct explanation of

assertion (A).
(c) Assertion (A) is true, but reason (R) is false.
(d) Assertion (A) is false, but reason (R) is true.

12. Assertion (A) : Sea breeze refers to the movement of cold air from sea towards sea
during time.
Reason (R) : Land breeze refers to the movement of cold air from land towards sea during

night time.

(a) Both assertion (A) and reason (R) are true and (R) is correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true, but reason (R) is not the correct explanation of
assertion (A).

(c) Assertion (A) is true, but reason (R) is false.

(d) Assertion (A) is false, but reason (R) is true.

13. Assertion (A) : Rumen is the first of four chambers of stomach of ruminants
Reason (R) : In rumen the food gets partly digested and is called cud.

(a) Both assertion (A) and reason (R) are true and (R) is correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true, but reason (R) is not the correct explanation of

assertion (A).
(c) Assertion (A) is true, but reason (R) is false.
(d) Assertion (A) is false, but reason (R) is true.

14. Assertion (A) : Some bacteria are present in root nodules of leguminous plants.
Reason (R) : Leguminous plants have nodulated roots.

(a) Both assertion (A) and reason (R) are true and (R) is correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true, but reason (R) is not the correct explanation of

assertion (A).
(c) Assertion (A) is true, but reason (R) is false.
(d) Assertion (A) is false, but reason (R) is true.

15. Assertion (A) : Radiation is a method of transfer of heat.
Reason (R) : The process of heat transfer that does not require any medium is called

convection.
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(a) Both assertion (A) and reason (R) are true and (R) is correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true, but reason (R) is not the correct explanation of
assertion (A).

(c) Assertion (A) is true, but reason (R) is false.

(d) Assertion (A) is false, but reason (R) is true.

lll. Choose the correct answer for the following. [5 x1=5]

16. Part of the alimentary canal where water gets absorbed from undigested food

“a) stomach b) food pipe c) small intestine d) large intestine

17. The process of heat transfer in liquids and gases are called

a) conduction b) convection c) radiation d) absorption

18. The term that is used for the mode of nutrition in yeast, mushroom and bread-mould is
a) autotrophic b) insectivorous c) saprophytic d) parasitic

19. Stainless steel pans are usually provided with copper bottoms. The reason for this could
be that

a) Copper bottom makes the pan more durable

b) Copper is a better conductor of heat than the stainless steel

c) Such pans appear colourful

d) Copper is easier to clean than the stainless steel

20. Cud is the name given to the food of ruminants which is

a) swallowed and undigested. b) swallowed and partially digested.
c) properly chewed and partially digested.

d) properly chewed and completely digested
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Section-B

21.a. Show with the help of a sketch that plants are the ultimate source of food. [2M]
b. Why do organisms take food? [1M]
22.a. Write one similarity and one difference between the nutrition in amoeba and human

beings. . [2M]
b. Why do we get instant energy from glucose? [1M]

23.a. Differentiate between conductors and insulators. Give two examples of each.  [2M]
b. In places of hot climate it is advised that the outer walls of houses be painted white. [1M]
24. Explain with the help of diagram difference between sea breeze and land breeze. [3M]

25.State similarities and differences between the laboratory thermometer and the clinical

thermometer. [3M]

26.a. Why do farmers grow many fruits and vegetables crops inside large green houses?
What are the advantages to the farmers? [2M]

b. Draw a neat labeled diagram of human digestive system. [3M]
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Set-A
Class: VII Max Marks: 40
Sub: SOCIAL SCIENCE Duration: 1:30 min

General Instructions:

i. Question paper comprises three sections. There are 30 questions in the question paper.
ii. All questions are compulsory.

iii. Section A - (objective) Question No 1 to 20 (1 mark each).

iv. Section B - (Subjective) Question No. 21 to 26 questions are carrying 2, 3 & 4 marks.

v. Section C — (Map) Question No 27 to 30 (1 mark each).

Section-A
I. Choose the correct answers from the following multiple-choice options. 5X1=5
1. What is a source of metal?
A) Atmosphere  B) Biosphere C) Hydrosphere D) Lithosphere
2. When is the World Environment Day celebrated?
A) July 5 B) June 5 C) August 5 D) September 5
3. The Deccan plateau is made up of
A) clay B) granite C) basalt D) none of the
4. Manuscripts were placed in
A) temple B) school C) archives D) none of these
5. What do you mean by “Dalit”?
A) Low B) High C) Broken D) All of these
Il. Fill in the blanks with suitable word. 5X1=5
6. Rosa Parks was an women.
7. is the first state in India to introduce the Mid-Day Meal scheme.
8. is our basic life support system.
9. is the innermost layer of the Earth.

10. Al-Idrisi was a
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Il. Match the contents of Column-A with that of Column-B. 5x1=5

Column-A Column-B
11. 1154 CE a) Without use of money
12. 1964 ' b) Igneous
13. Barter System c) Al-Idrisi
14. Primary Rock d) Mantle
15. 2900 km e) Civil Right Movement
IV. Assertion (A) and Reason (R) type questions. 5x1=5

Direction: Read the assertion and reason carefully and choose the correct answer from
the options given.

16. Assertion: Forests are considered as “lungs” of the Earth.
Reason: Forests produce oxygen through photosynthesis.

A) Both assertion and reason are true and reason explains assertion.

B) Both assertion and reason are true but reason does not explain assertion.
C) Assertion is true but reason is false.

D) Assertion is false but reason is true.

17. Assertion: Discrimination based on caste, gender, and religion is unconstitutional.
Reason: It goes against the principle of freedom.

A) Both assertion and reason are true and reason explains assertion.

B) Both assertion and reason are true but reason does not explain assertion.
C) Assertion is true but reason is false.

D) Assertion is false but reason is true.

18. Assertion: History helps us understand the future.
Reason: It provides a record of future events and experiences.

A) Both assertion and reason are true and reason explains assertion.

B) Both assertion and reason are true but reason does not explain assertion.
C) Assertion is true but reason is false.

D) Assertion is false and reason is false.
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19. Assertion: The Vedic Period saw the emergence of new religious ideas.
Reason: The Vedas were composed during this period.

]

A) Both assertion and reason are true and reason explains assertion.

B) Both assertion and reason are true but reason does not explain assertion.
C) Assertion is true but reason is false.

D) Assertion is false but reason is true.

20. Assertion: Natural resources are unlimited and need to be conserved.
Reason: They are essential for human survive.

A) Both assertion and reason are true and reason explains assertion.

B) Both assertion and reason are true but reason does not explain assertion.
C) Assertion is true but reason is false.

D) Assertion is false but reason is true.

Section-B
V. Answer the following questions in brief. 3x2=6

21. List the reasons for air pollution in urban areas?

22. What are the benefits of the Mid-Day Meal scheme that you find most appealing, and
how do you they impact students?

23.What are the difficulties historians faced using manuscripts?
VI. Answer the.following questions in brief. 2X3=6

24.Distinguish between biotic and abiotic environment.

25.How can you support a classmate who is struggling socially?
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VI. Answer the following questions in detail.

'26.Make a note on layers of the Earth.

STRUCTURE OF THE EARTH

Crust

{8 to 20 kilometers)

Mantie

{2,900 kitorneters)

Outer core
{2,250 kilometers)

Inner core

» "'\( (1.300 Khiorneters)
A

A
1

Section-C

VII. There are two places A and B marked on the given outline map of India.

1X4=4

2+2=4

A. Identify & write their correct name on the line drawn near them with the help of clue

given below.
27. Name the western boundary of India.

28. Name the eastern Islands of India.

B. On the same outline map of India locate and label the following.

29. Karnataka

30. Tamil Nadu
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